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()*+ ,-. / *,, 0123*245 3)5 6575,189 523 1: +5;4523*-, ,1<*0 0*=04*3+ >
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()5 91+3 6 *C 04,3 8-=3 *2 65+*<2*2< )-=6/-=5 *+ 31 01==503,D *98,59523 3)5
0123=1, ,1<*0 1: - 9165, > E-3-F3=-2+:1=9 *2< -26 6-3-F+31=*2< 42*3+ G-,4 H
94,3*8 ,*5= H +) *:3 =5<*+35= H =5<*+35= I ,5 H >>>J )-75 31 . 5 +488,*56 / *3) 0123=1,
+*<2-,+ -3 3)5 =*<)3 3*9 5 H +1 3)5 /)1,5 *9 8,59523-3*12 . 5)-75+ -+ 5K8 50356 >
L *2*35 M3-35 N -0)*25+ GO PQ J 8=17 *65 -2 5-+DF31F4+5 9165, :1= 65I2*2< H
35+3*2< -26 *9 8,59523*2< 0198,5K 0123=1, 0*=04*3+ > R2 LMN 012+*+3+ 1: -
+5;4523*-, 8-=3 +31=*2< 3)5 04==523 +3-35 1: 3)5 9 -0)*25 *2 =5<*+35=+ H -26 -
019.*2-3*12-, 8-=3 :1= 57-,4-3*12 1: 3)5 143843 +*<2-,+ -26 3)5 25K3 +3-35
:=19 3)5 *2843 +*<2-,+ -26 3)5 04==523 +3-35 > ()5 9 -0)*25 0-2 0)-2<5 *3+
+3-35 12 575=D -03*75 0,1 0S 56<5 >

T UV W XYZ[\] W ^ _]`a
()5=5 -=5 +575=-, 9 165,+ :1= LMN 65+*<2 >

Q bcdefO PQ
g2 - N5-,D 9 -0)*25 H 3)5 143843+ -=5 - :4203*12 1: 3)5 04==523 +3-35 -+ /5,, -+
3)5 *2843+ > ()5 -+D20)=1214+ 2-34=5 1: 3)5 143843+ 1: 3)5 N 5-,D 9 -0)*25
0-2 9 -S5 3)5 . 5)-7 *1= 428=56*03-. ,5 >

Q hhibfO PQ
g2 - N11=5 9 -0)*25 H 3)5 143843+ -=5 12,D - :4203*12 1: 3)5 04==523 +3-35 >

Pjk ldb Q hhibfO PQ
g2 - M*98,5 N11=5 9 -0)*25 H 3)5 +3-35 52016*2< *+ 3)5 143843 1: 3)5 9 -F
0)*25 > ()*+ *98,59523-3*12 *+ 3)5 :-+35+3 . 50-4+5 3)5=5 *+ 21 019.*2-3*12-,
3=-2+,-3*12 1: 3)5 04==523 +3-35 *231 -2 143843 >
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T UT noXo] p \Y^ _[\q
r jscie
g2 t*2-=D +3-35 52016*2< H +3-35+ -=5 249.5=56 +3-=3*2< :=19 u -26 48 > M3-35+
-=5 -++*<256 *2 - . *2-=D +5;45205 > ()5 -67-23-<5+ 31 . *2-=D +3-35 52016*2<
-=5 3)-3 *3 =5;4*=5+ - ,5++5= 249.5= 1: v *8Fv18+ -26 4+5+ ,5++ -=5- > ()5 6*+F
-67-23-<5+ -=5 *3 =5;4*=5+ 9 1=5 8 1/5= H 8=125 31 <,*30)5+ H 0198,5K 65016*2<
,1<*0 31 3=-2+,-35 3)5 04==523 +3-35 31 25K3 +3-35 -26 143843 H -26 *3 *+ -,+1
81++*. ,5 31 <53 *2 31 - w�xy� +3-35 G424+56 -26 4265I256 +3-35J >

zice {h|b
}=-D 52016*2< <4-=-2355+ 3)-3 12,D 125 +3-35 7-=*-. ,5 +/ *30)5+ . 53/552 3/1
012+5043*75 +3-35+ > g3 *+ -88=18=*-35 :1= 0123=1,,5=+ 5K)*. *3*2< ,12< 8-3)+
/ *3)143 .=-20)*2< > ()5 -67-23-<5+ 31 4+*2< <=-D 0165 52016*2< -=5 *+ 4+5+
3)5 +-95 249.5= 1: v *8Fv18+ -+ . *2-=D 52016*2< H ,5++5= 0)-205 1: <533*2<
*231 +3-,5 +3-35+ H =56405+ <,*350)5+ -26 )-~-=6+ H -26 +*205 12,D 125 v *8Fv18
0)-2<5+ :1= 5-0) -6� -0523 +3-35 *3 =56405+ 8 1/5= 4+-<5 > ()5 6*+-67-23-<5 *+
3)-3 65016*2< ,1<*0 *+ 91=5 0198,5K >

�sbf� h�
�25F)13 52016*2< -++1 0*-35+ 125 0165 . *3 -26 -,+1 125 v *8Fv18 31 5-0) +3-35 >
R3 - <*752 0,1 0S 0D0,5 64=*2< 18 5=-3*12 H 125 -26 12,D 125 +3-35 7-=*-. ,5 *+
-++5=356 > �2,D 3/1 +3-35 7-=*-. ,5+ 31<<,5 64=*2< - 3=-2+*3*12 . 53/552 3/1
+3-35+ > �25F)13 52016*2< *+ 75=D -88=18=*-35 / *3) 9 1+3 L� }R 3-=<53+ /)5=5
- ,-=<5 249.5= 1: v *8Fv18+ -=5 -7-*,-. ,5 > ()5 -67-23-<5+ 31 4+*2< 125F)13
52016*2< -=5 75=D +*98,5 65016*2< ,1<*0 -26 *3 4+5+ ,5++ 8 1/5= > ()5 6*+-6F
7-23-<5 *+ 3)-3 *3 4+5+ 91=5 v *8Fv18+ >

�s�k bic�b| �el b�
g2 ��E� H *3 *+ 019 912 31 4+5 52495=-356 3D8 5+ 31 =58=5+523 +3-35+ *2 -
+3-35 9 -0)*25 > ()5 +3-35+ / *,, *98,*0*3,D 4+5 . *2-=D 52016*2< > ()*+ / *,, . 5
5K8,1=56 :4=3)5= *2 :1 ,,1/ *2< ,-.+

T U� W ^ _]`[\q noXo] W XYZ[\]a [\ � � � �
g2 ��E� H 3)5 4+5 1: 3)5 8=1 05++ +3-359523 *+ 3)5 91+3 +4*3-. ,5 /-D 31 65F
+0=*. 5 -2 L MN > ()5 � �E� *9 8,59523-3*12 9 -D 4+5 +575=-, 8=1 05++5+ GmH � H
1= �J 658 526*2< 4812 )1/ 3)5 019812523+ 1: 3)5 LMN -=5 012+*65=56 > ()5
� 8=*9 -=D 019812523+ 1: -2 LMN -=5 3)5 �5K3FM3-35 L4203*12 H M3-35 G-26
183*12-,,D �43843J �5<*+35=+ H -26 3)5 �43843 L4203*12 > g2 3)*+ 65+0=*83*12 H
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8=1 05++5+ 3)-3 65+0=*. 5 3)5 . 5)-7 *1= 1: 019.*2-3*12-, ,1<*0 5,59523+ / *,, . 5
=5:5==56 31 -+ ��� ���x����xy � ����ww�w -26 3)1+5 3)-3 65+0=*. 5 +3-35 1= +31=F
-<5 5,59523+ -+ w����� ��xy � ����ww�w> ()5 04==523 +3-35 -26 3)5 25K3 +3-35
7-,45+ -=5 =58=5+52356 4+*2< +*<2-,+ > L1= 5-0) +3-35 H 3/1 3)*2<+ 2556 31 . 5
6535=9 *256 � 25K3 +3-35 -26 143843 >

� b��fP�c�b
�5K3 +3-35 5;4-3*12+ 0-2 . 5 65+0=*. 56 6*=503,D *2 3)5 +5;4523*-, 8=1 05++ 1=
*2 - 6*+3*203 019.*2-3*12-, 8=1 05++ > ()5 +*98,5+3 3598 ,-35 H /)*0) +)14,6 . 5
4+56 *2 3)*+ ,-. H *+ .-+56 12 - �-+5 +3-359523 > g: 4+*2< - +58-=-35 8=1 05++ H
*3+ +52+*3*7 *3D ,*+3 +)14,6 0123-*2 3)5 +3-35 +*<2-, -26 -,, LMN *2843+ > ()5
25K3 +3-35 +*<2-, *+ -++*<256 - +3-35 7-,45 .-+56 12 3)5 04==523 +3-35 -26
183*12-,,D 3)5 *2843+ G-+ / *3) N5-,D 9 -0)*25+J >

���l��
�12F=5<*+35=56 143843+ -=5 65+0=*. 56 5*3)5= *2 3)5 019.*2-3*12-, 8=1 05++ 1=
*2 01204==523 -++*<29523+ G:1= 91=5 *2:1=9 -3*12 12 01204==523 -++*<29523
953)16 H +55 ����������   �y�����  �¡�xy � ww�¡�� ���  �x��� ���wH )338 �¢¢
/// >0+55 >49. 0 >564¢)5,8¢� �E�¢01204==523 >)39 ,J > �5<*+35=56 143843+ 94+3
. 5 -++*<256 / *3)*2 3)5 +5;4523*-, 8=1 05++ > £4+3 -+ / *3) 3)5 �5K3FM3-35 :420F
3*12 H 3)5 143843 0-2 . 5 +*98,D 65+0=*. 56 4+*2< 0-+5 +3-359523+ 31 -++*<2 3)5
-88=18=*-35 143843 .-+56 4812 3)5 04==523 +3-35 -26 G:1= N 5-,D N -0)*25+J
3)5 L MN *2843+ > g: 4+*2< - +58-=-35 8=1 05++ H *3+ +52+*3*7 *3D ,*+3 +)14,6 012F
3-*2 3)5 04==523 +3-35 +*<2-, -26 -,, LMN *2843+ >

P�c�b¤���l�� ¥ b¦j��bi�
()5 +3-35 =5<*+35= -++*<2+ 3)5 25K3 +3-35 +*<2-, §+ 7-,45 31 3)5 04==523 +3-35
+*<2-, > ()5 :1=9 -3 :1= 3)*+ =5<*+35= / *,, :1 ,,1/ 3)5 125 :1= 3)5 ,-+3 ,-. > M3-35
=5<*+35=+ 94+3 . 5 *2*3*-,*~56 / *3) -2 -+D20)=1214+ 1= +D20)=1214+ G=5+53J
+*<2-, > R2 5K-9 8,5 /14,6 :1 ,,1/ 3)5 ,-+3 ,-. � 48 12 -++5=3*2< 3)5 =5+53 H 3)5
04==523 +3-35 /14,6 . 5 =5+53 31 +195 *2*3*-, +3-35 .D -++*<2*2< 31 *3 3)5 7-,45
1: 3)5 *2*3*-, +3-35 G*2*3*-,*~*2< 3)5 LMN +3-35 =5<*+35=J >
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� UV © ª^ Y]_«ª]
L1= 3)*+ ,-. H D14 -=5 31 0=5-35 3/1 L *2*35 M3-35 N -0)*25+ > ()5 I=+3 / *,, . 5
- M*98,5 N11=5 9 -0)*25 3)-3 4+5+ <=-D 0165 52016*2< -26 *9 8,59523+ -
¬f­ j� ¦ice ®h|b �lf®h�s�bi > ()*+ LMN +)14,6 4+5 3/1 8=1 05++5+ � 125
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:1= 25K3F+3-35¢143843 :4203*12 H -26 125 :1= 3)5 +3-35 =5<*+35= > ()5 143843
0-2 5*3)5= . 5 =5<*+35=56 *2 3)5 +5;4523*-, 8=1 05++ 1: 3)5 +3-35 =5<*+35= 1=
42=5<*+35=56 -26 -++*<256 *2 3)5 G0-+5 +3-359523 1: 3)5J 25K3F+3-35¢143843
019.*2-3*12-, 8=1 05++ > ()5 +50126 / *,, . 5 - N 11=5 9 -0)*25 ¬f­ j� ­ jscie
�lf®h�s�bi 3)-3 -,+1 4+5+ <=-D 0165 +3-35 52016*2< > ()*+ LMN +)14,6 . 5
*98,59 52356 4+*2< 3/1 1= 3)=55 8=1 05++ � 125 +5;4523*-, 8=1 05++ :1= 3)5 +3-35
=5<*+35= H -26 5*3)5= +58 5=-35 1= - 019.*256 019.*2-3*12-, 8=1 05++ :1= 3)5
25K3F+3-35¢143843 :4203*12+ > L1= 3) *+ H 3)5 143843 +)14,6 213 . 5 =5<*+35=56 >
t13) 1: 3)5+5 +3-35 9 -0)*25+ / *,, )-75 5*<)3 +3-35+ > ¯ +5 -2 c�es®°ihsh��
ib�b� -26 4+5 - ®h�s� bsc­ db 31 52-.,5 3)5 014235= 31 0)-2<5 01423 7-,45+
-3 3)5 =*+*2< 56<5 1: 3)5 0,1 0S > L1= 35+3*2< H 4+5 1: :1=05 +3-359523+ 31 <525=-35
3)5 0,1 0S H =5+53 H -26 01423 +*<2-,+ *+ -00583-. ,5 > R3 3)5 . 5<*22 *2< 1: 3)5
+*94,-3*12 H <525=-35 - =5+53 31 *2*3*-,*~5 3)5 LMN > (5+3 3)5 01423 52-.,5 .D
,1/5=*2< *3 64=*2< 3)5 +*94,-3*12 31 +)1/ 3)5 LMN +318+ 01423*2< >

� UT ± ]² ^ªo
()5 ,-. =581=3 / *,, 012+*+3 1: - 0175= +)553 H D14= � �E� 0165 :1= .13)
9 -0)*25+ H -26 3)5 +*94,-3*12 /-75:1=9 + :1= .13) >

³


